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Here class got interesting. It seems the proof in the book of Menger's theorem
is wrong, as the following example uncovered. What we are looking at 1s

a digraph in which there are at most two disjoint paths from s to t. The red
and blue paths form one such pair.

According to the proof in the book, we look at the set of vertices one. I've boxed
these. The book says the arrows leaving the boxed vertices will be colored, which

is fine, and that the arrows going into boxed vertices will not be colored. This is false,
and I don't see how this proof can be fixed.
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